2025F 10A HTHMILMESHEE FER

O THEFRAR—YHETT ., FBAICHEAAD ESEINLEADTETT, 9 12 219 219 18 219 12 15 18 219 12 15 18 21
O Fsbk- 4. 773 —BEDANBRI THYET, 1 (7J<) 2 (7|<) 3 (f) 4 () 5 ()
O EEBASAESAHARTY, TE5EMRERNTHVRTALIICT Al « o | /N F [ Jwk#zo—I o | —sesss. ) ~smarma NS — ) : T rxsr—smE VS /157 A%
CFRIDS RFIART, PRI EBROSBN BT, oI A | = = R O a g NZHESS BREDT AL | 2R AR B
N (RIS IR R (FHPE CBR< 2T ) C[ N F SN ST TR 8 i XARBICI2F oy MOETT (K/O 14:00)
~BERE, BAMIDEDEHATEOENRS S VET, Al . S]] . R = e 1 e - © e R "L o— K — B
- [y, /52— PHIPHOP JRa 2 R~ 26 AR (A H) Rl RAN Tl Pty T = O ISV IV B = N of L €AtV atapts C
[\ RIR—)U VT~ GRS (BRsAH) = = ~ ‘
(RS RN P G (AR R Py P S = s®|T7o| = ® F =X F = X
TRTAXADITEPIAY YR TEST2] (IS5 V2] i el g V2R ) ) ” £ I £ I i _
18 XS (FRIATRE, 1[E500M) s =1 XDH_";I{{; P Um0 2 & )?;;/;@5 ASV XN X B F — 5 BT H
X FREAPEARIE(19:15~20:45) P = ERLE: . = | e ; ; U P =
FEASIE Y ML IEAR  1500F/EITT, #2| B = i XY Ca3 3l O 5 I IE T ;ﬂzz o ® B B R F—FIU—R
N =1 57— PR > g —_ 57— — 57— — 7— - i 57— — i - I - =
2025.9. 15 MESH | M B rF- - M B [FPF- B MB rrm-|MB - MR MB | AN mB v AB | Y g7 ms
9 12 15 18 21 9 12 15 S 21
6 (A1) 7 (K) 8 (k) 9 (K) 10 (&) _ 1 () 12 (B)
A NT—Z N F RET ¢ LK Zorgnxo—nl o N7 -2 BE LR IhvEsou
X1V B SNL— MF =X T IMF== = | )NR
i Yl e s S SKL= K25 TREF] a2 Al ol A E oyt o B
X BE =2 = 3 == BRI — /7(-,:/11/—/7“ V14 ﬁ'J'EX/‘/'” WAB/NL —R— N5
ﬁj'E B = N — B Ik |xmz|zro ' H=  NL—] N R
5 73 )4 H % 4 - o lx=e> e . . - . R F &= R
IMEEE i s % |T7o|f757 52 = R £ ¥ ) T7O) = K S 9 VR |enhw = %
sam ™ 'IHJ%@ | ZE| Frv—7r 2200 al & | % = e z & & = & &
P - I*Hfﬁ/éolp" 8| % = :;5; S X % & |z 2 o e IE R ERE vesalamel @ |POBEATRIN—VYREAE o 58
WSS Me 77— M3 MB|MB rr-ry - M3 [rrm- MB MB rru-| M5 7rw- M5 M5 |85 Fes 13 15| KNS roo-7425E 13
13 (A) 14 (K) 15 (k) 16 _(K) 17 &)___ 18 (1) 19 (B)
A NFF=Z: /U R N R e | N R S TyRrt o= s INT=X BE NN R IAYRR-L . e = . o
X’f)E & I & B SKNL— XBAT YRS L M7T—X = X M7 R ] B = N R é‘égﬁ@:ﬁ;ézﬁw/_ ffﬁf
C %5?@554%55%—;;@ NZ2T 7% 57" N R SNL—=i NZXT I NR T
TA # — T N = =& = T . BEDEEH TS T
77 Tg| #o= A S e AE AL AE F-PLUS % 7% # B A & P S RO LT
N F & % N e [~ > o [ e % . I % F = 3% F = 3% - TR
IMAB= = % = Bk - gk 702353 5 52 R g2 ¥ (|T70| £ K = % = 3% 5%
e BHES e S 88 | w = Gy & 8
BIE- —-—- =0 < e 3 N =
82 BHENEOER |*prx/'{|olp‘| = Zsﬂjf FHL X & UX“L\”;;X FyrTovs 3 A 3 A nexallamEl R OB %8
wos| 5 & & B 1) I I 1) i B = Torry 2 5 & Z & _
eSSy FTRIAN—YVALSEAL 7—F1') fms 7—FIv fm s fms s 7—F1') 7—F1') s 7—F1') s s 7—F1') s 7—FzIl s s ( 7 ) Mm s 7/-;‘?/-7_#% s ZE5 09 8 K &£ Al 2 Fz')
20 (B) 21 () 22 (k) 23 (K 24 (&) 25 () 26 (B)
A NFZ2Ri )V R AN . e IN R I TDwRrB N RO—N ., . N X Ty AR — LB N X Ty NR = N B
%t 8| S/T“/_ IR W Ty MK — NG E |B3U-—Fas(19: 2088 8%)|B3U—-F2H(15: 0088 M%)
| B ! — _ = B V=i & & AEFEFLIIR VS LEHDEZF1 |AEFE—FLTIRX VS LANDEF71 w E & & B
C INR g T AR N R BB F TR BETT | A BEBICIRF YA BETT Wgﬁ;,b%ﬁgé_chA
A . i = Ik \ \ \ - =
ﬁji H = NL— s Ik [xmz(zro H=E  NL—| R B =E IR
z= ﬂ- .EE’ E & & = w74 e 5 X " " S . FEIX, # x | F £ X F = 3k
IMEEE K| s % |T70O|7g57 5 2 = s e E B EPEIEE: = 3%
L ;j;}g@ 7<'m||j;4; FPUY—Fr TR~ I &l & & &
WS — P E*Hi;_/égllg_?: Fz | &= _l>5<_‘</_ﬂ/)_§ FH <L E u;u\";zx orrovs| 3 A 3 A P P L= - | ,ff)_‘zlé‘%ft‘XQ a5 E
mm e B & &# & ) 1 i e w = A N B i N O
A T e ae M3 |MB pIm-sns MBS pns WB M prn| WS vn- A5 M B | 0N wmdixeun T a8 E Oy 2A5E MB
27 (B) 28 (X) 29 (0K 30 (K) &) ’ = - - 22 2 - = !
% 7 31 7 ~\\ Moy
Al = % NT=—2 /N F A = 3 N2 B = A EAT— kB / 33X I-AFIEDHH5E \
*12|B SNL—: . HEATE T M7 =2 CIMT =R 7 5 & TROHIE ASREICKYTHBVEETER A,
C N2 5 NS NI SRU= RZIHFTRRAT =L BROBIC XEOBIXT 8~ 21 CHAICANET,
Tal o - ) « = IR = e - " OFIM B X9B~ 1284, 188~ 2 1B HIAICANET,
Ry IEAN BE b - Sl B rE NL—|UE " OEIDBIX 285~ T5B CFIARICANET
: : : ) oy T % : : « " OHINH 158~ 18B CFRIMICANET,
IMABE S 3R s 3R s | T7O|FT57 52 & B S |IT7O| = & " OO BIZB~1 2B HIRICANE T,
E B e <G 7rv—rerras-n 8 & || o 2800 o 38@) O 48 5E(E)
VB — — —
2 ovovtes|e57 12 I A [svovoun '*Hfﬁ/ﬁép" B o= i XD % & um||,suR sty 3 A 118(1) 128(H) Y 138(8) 18A (%)
mEsE|l M B - M B i B irF- M B MWB|MB FF-rTFI- M B |7F- M B MB vFI-| B rFI- M =B M3 (195(5) gzgg; O ?S((g)) ZSE(i)/
9 12 15 18 219 12 15 8 219 12 15 18 219 12 15 18 219 12 15 18 21




